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Answer all the questions in OMR sheet.

Choose the correct answer.

Each question carries 2 marks.

1. The production function is Q = 36KL - 2K2 - 3L2. What is the value of

marginal physical product of labour at K = 2 unit and L = 10 units ?

(A) 12

(B) 36

(C) 10

(D) 2

2. If MR = 10 and AR = 2, what is the value of price elasticity of demand ?

1
(A) -

8

1
(B) --

4

(C) 1

(D) 0

j
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3. The demand fimction q = 30':'"4p ~ p2. If the commodity is free good then

what is the value of q ?

(A) 30

(B) 26

(C) 20

(D) 0

4. If cost function is C =l- 3q2 +50q +10,· what is the value of MC at

q=2?

(A) 50

(B) 10

(C) 3

(D) 20

5. In a multiplant monopolist the profit (1t) is __ ~_ ..

(Where RI and R2 are the revenues of the two markets) :

(A) 1t = RI ( ql) - C (ql +q2)

(B) 1t = RI (q.)+R2 (q2}-C(ql'+q2)

(C) 1t = R2 ( q2) - C (ql + q2 )

(D) None of the above
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6. In the game theory, the value of the game is zero then

(A) maximin ee ' minirnax = 0

(B) rnaximin = minimax = 1

(C) maximin > minimax

(D). maximin < minimax

7. What"is the value of elasticity of demand (e) if MR is zero ?

(A) e> 1

(B)e<l

(C) e = 1

(D)e=O

8. If the cost function C = 15q- 6q2 , what is the value of AC at.q = 2 ?

(A) 3

(B) 2

(C) 6

(D) 15

Turn Over
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9. Consider the game with the following payoff matrix. Find the value of the
game.

AI 3 -1 4 2
P-A A2 -1 -3 -7 0

A3 4 -6 2 -9

(A) -1

(B) 2

(C) 3

(D) 4

10. Let the equation of an iso quant be q = f (xl' X2). Find the slope of the
iso quant.

dXI fi
(A) -=--

dx2 12

(D) None of the above
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P-II (1+1+1) H I 17(N)

2017
ECONOMICS (Honours)

Full Marks : 80

Paper Code : III-B
[New Syllabus]

Time : Three Hours Thirty Minutes

The figures in the margin indicate full marks.

Group -A

[Short Answer type questions]

Answer any four questions.

1. Consider a three sector economy

C = 5+O.5Yd

1=85

T=lO

G= 15'

(i) Find the equilibrium level of national income.

(Ji) Calculate the change in equilibrium of level of income if Govt. expenditure
increased by 10 unit.

(ill) Find the value of tax multiplier. 3+3+4

Turn Over
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2. Consider the production fimction -Q = AKa IJ3

(i) Verify Euler's theorem for this function.

(ii) Show that the elasticity of substitution (a) between Labour (L) and

capital (K) is unity. 5+5

3. Given that dP = 2 (D -:S) examine the stability. of the following market
- ~ .. .

D=2-2P
S=-4+4P 10

4. The production fimction is given as q = 7KO,) LO.7. If the unit prices of K

and L are given as 3 and 7 and the firm is ready to spend Rs. 100, find
the maximum level of output. 10

5. From the following information find the final output of each industry satisfy
the specified bill of final consumption. 10 .

Bill of final
x y z

consumption

x 0.3 0.2 0.2 80
y 0.2 0.1 0.5 30
z 0.2 0.4 0.2 50

6. Distinguish between

(a) two-person zero sum game

(b) two-person constant sum game. 10
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nsider the, game with the following payoff matrix

Player-B

(I) Show that the game is strictly determinable "whatever A may be.

(n) Determine the value of game. 5+5

8. (I) For an economy following consumption function is given C = 60 +
0.75Y. If investment in a year is Rs. 75 crores, what will be the
equilibrium level of income ?

(ii) Assume that in a duopoly market the demand function is

P = 100 - 0.5 (ql + q2) and the costs are Cl = 2.5ql and C2 = 0.25Qi
find the reaction functions. 5+5

Group- B

[Essay type questions]

Answer any two questions.

9. (I) Prove that the elasticity of substitution (0') of the CES production
function is constant

(n) If the marginal revenue functionis Pm = { ab 2 C}' show that .
. (x+b)

P = {X:b -C} is·the demand law. 10+10

Turn Over
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10. (i) Solve the following differential equation when y (0) = 1O,y' (0) = 12

d2y. dy
-+7-+6y=7.

dt dt

(n) Examine the dynamic stability of the equation Yl+2 -IlYl+l + 1Oy, = 27
10+10

. .
11. (i) A firm produces two products X and Y. The profit per unit of X and

Y are Rs. 5 and 6· respectively. Each product passes through two
processes. Product X requires 1hour of Process-I and 2 hours of
process-ll per unit. Product Y requires '1 hOW' ofplocess..I8nd 3 hours
of process-IT per unit "The firm has a capacity of 5 hours of Process-
I and 12 hours of Process-IT.

(a) Form the LPP. "

(b) Determine the solution by graphical method.

(c) Write down its dual problem. 3+4+3

[

0.2

(n) Given input coefficient matrix A = 0.4
0.1

:",,,~ .....

0.3 0.2]
0.1 0.2 and the fmal
0.3 0.2

[
10] . .

demand Vector c= !.Find the output levels of three industries.

10
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12. Given the demand function p ~ 20 - q and the total cost function
C == q2 + 8q + 2 .

(I) What output maximise total profit and what are the corresponding values
of price, and profit?

(ii) What OUlpUImaximises sales and what are the corresPOnding values of
price and sales ? 10+10
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